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is not  always frue.
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Recall! (Fund amenta| Theorem of Calcwlus)
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3154 The Chain Rule he e e
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Thm (Chain Rule) by 5‘3,"5““*“"2’5 $ T~
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Ex.4 Find Sl—f when z=h() *+cos(y) +xy? ) x=1+{F and y=e*%

Note.! we could 5ubs+77‘u+@, Jro cyﬁ’ 2 ()= ln(1HE) + cosle®)+ ((+FE)e"
Howcaver dem% 9?; woul be very messy.,
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Thm (Emplicit Di fferentiation)

I'p F(X;\D :O al’td F 7’—'0) J’)qe,n —3‘% = — FFX
Y
Why ? Flxyd =0
MM |
=L7/"L“Ek0<.y3] O Yoy choin cule
%1’ ( x)Fj =0
(i‘x>FV:—Fx
dy o Fx
d % Fy

Ncﬁe_/: he are assumw\cé s a differentoble fncton of X.
This 15 useful whan working with Xt 4y =1 and
5|‘m{|ar~_ curves becouse N = +4iéﬁ—xi can't be. sslved
ex pln'c,n"/\/ LBe o sin%,le, fLnchion  every whaere.

EX 6 Fmol ’—y- \Cor xaya = <in (X) +6y.

l’(X;73 = X \/& — sin(x) ~e (or FCXm@:* 51‘ﬂﬁx5+e,v—x'2y‘2)
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